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int main(void)
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int *x;
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*X = 42,
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*y = 13;
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typedef struct
{

string name;
string number;

}
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node *n = malloc(sizeof(node));
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node *tmp = list;
while (tmp->next != NULL)
{

tmp = tmp->next;

}

tmp->next = n;
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node *n = malloc(sizeof(node));
if (n !'= NULL)
{

n->number = 5;
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node *tmp = list;
while (tmp->next != NULL)
{

tmp = tmp->next;

}

tmp->next = n;
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node *n = malloc(sizeof(node));
if (n !'= NULL)
{

n->number = 1;

n->next = NULL;
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n->next = 1list;
list = n;
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bool search(node *tree)

{
if (tree == NULL)
{
return false;
}

else if (50 < tree->number)

{

return search(tree->left);

}

else if (50 > tree->number)

{

return search(tree->right);



bool search(node *tree)

{
if (tree == NULL)
{
return false;
}

else if (50 < tree->number)

{

return search(tree->left);

}

else if (50 > tree->number)

{

return search(tree->right);

}
else if (50 == tree->number)
{
return true;
}



bool search(node *tree)

{
if (tree == NULL)
{
return false;
}

else if (50 < tree->number)

{

return search(tree->left);

}

else if (50 > tree->number)

{

return search(tree->right);

}

else

{

return true;
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abstract data structures



queues



enqueue

dequeue



FIFO



stacks



push
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